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The augmentation of digitized verbal feedback
creates a dynamic shift in student and teacher
responses and student-teacher relationships.
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Homework Task 2
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Michael, telling me how you feel.

How would Michael be feeling at this point? Write a short account gs Why has the author used repet
Look at your answer for question 3 from Homework task 1. Represent t Q;
your answer in the form of a Bar model. Remember that a bar model
looks like this.
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orange sweets there are two strawberry . in from the ocean, and crashing
sweets. . 3 | pounding the beach| and shaking the ground

Each packet contains 15 sweets in total. &L b Uy
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m crashing the § ; would they feel?
For every one pink bead, she uses three purple beads. Each necklace has 9 The storm . will affect the cave in many
32 beads in total. The cost of the string is 2.80aed The cost of a pink beach y . Th 1d fell
bead is 72fill. The cost of a purple bead is 65fills. How much does it_| ways.It might crush the cave.It might make They would fel s
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Use items around the house to make your own visual representation of |5' { is going to be wet. Michele will have to find mayl
the necklace. This will help you solve the answer. Once completed, draw @ another shelter. someone is in da
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1 Write the fractions equivalent to a half.
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